Types of Settlement

i |Key words Definition

A hamlet is a very small settlement with just a group of
houses.

A village is also small but may have houses, a primary
school, a few shops, a Post Office and a village hall.

A town is larger than a village, with lots of houses, primary
and secondary schools, as well as sometimes having a
railway station and shopping centre.

A city is the largest type of settlement, containing lots of
buildings and lots of people. They usually have hospitals,
sports facilities, universities, shops, offices, many houses
and a cathedral.

In the UK however, some cities may be small. This is be-

cause some settlements have a Cathedral and this makes
them a city. For example, St Davids in Wales and the City
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Function What activities occur there

Settlement A place where people live

Site Land the settlement is built
on
Dwelling A building to live in

Rural-Urban Migration |Moving from countryside to
cities/towns

Urbanisation The growth of towns and
cities

Trading Centres Where settlements grow

e.g. near to rivers

Urban Fringe People choose to live in

rural areas, outside cities
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Life Expectancy

The average period that a person may expect
to live

Public Sector

The part of an economy that is controlled by
the state.

Private Sector

The part of the national economy that is not
under direct state control.

Disposable income

Income remaining after deduction of taxes

North-South Divide

A divided nation?

Economic
activity

Incomes

Unemployment

House prices

Education

Life expectancy

Heavily dependent on the public sector.

Lower incomes, eg in 2011 the average
household gross disposable income was
£13,560 in the NE region. Benefits make
up higher proportion of incomes.

Higher unemployment, eg May 2015 - NE
region = 7.7%. Pockets of extremely high

Average Earnings per job
4
_ E
South £28,274 -

The south

A
The north

Private sector dominant.

Higher incomes, eg in 2011 the
average household gross
disposable income was £20,509 in
London.

Lower unemployment, eg SE region
=4.4%.

unemployment, eg Glasgow.

Lower house prices. Average prices in NE

=£154,000.

Higher house prices. Average price
in SE = £305,000.

Pupils from the north are less likely to

achieve straight A grades at A level, and
are less likely to go on to study at Oxford

Pupils in the south are 40% more
likely to achieve top GCSE grades.

or Cambridge universities.

Lower life expectancy, eg life expectancy
in Manchester 2013 = 71.8 (male) and

77.8 (female).

Higher life expectancy, eg male life
expectancy in East Dorset 2013 =
83.1, female life expectancy in
Kensington and Chelsea = 84.7.
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The UKs changing Population
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Population Pyramids

Population (in millions)
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Age Group

show the structure of
a population by
comparing relative
numbers of people in
different age groups .
It can tell if a country
has a youthful or
ageing population.
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Birth/Death Rate
Birth rate is how many people born per 1000
of the population. Death rate is how many
people die per 1000 of the population.

Why as the UK got an ageing population?
Good health care and diets mean people are living longer. Many
babies were born after WW2, they are now of retirement age.




